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Q.1 How would the pattern given on the square transparent sheet marked ‘X" look when the sheet is folded along the dotted
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Q.2 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one
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/< 3. Anger
v« Calm

Question ID : 9895803852
Chosen Option : 2

Q.3 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some flowers are white.

2. Some white objects are round.

Conclusions:
I. Some flowers are round.

II. Every round object is either white or a flower.

Ans 1. Only conclusion II follows

& 2. Both conclusions I and II follow
3. Only conclusion I follows

v 4. Neither conclusion I nor II follows

Question ID : 9895803861
Chosen Option : 4

Q4 If in a code language, HEAD = 4158 and PASTE = 52019116, then TRICK = ?

Ans of 111391820
X 2. 31191820
< 3. 11391718
X 411932018

Question ID : 9895803857
Chosen Option : 2

Q5 DAWN is related to DUSK in the same way as INAUGURATION is related to:

Ans - X 1. MEETING
v 2. VALEDICTION
& 3. CONCLUSION
X 4. INVITATION

Question ID : 9895803853
Chosen Option : 4

Q.6 Sixhouses A, B, C, D, E and F are located in two rows facing each other with three houses in each row. F is opposite C,
which is to the left of E. D is to the right of A. Which house is facing B?

Ans X 1. D
v
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Question ID : 9895803859
Chosen Option : 3

Q.7




Select the correct mirror image of the following figure when the mirror is placed to its right.
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Question ID : 9895803871
Chosen Option : 1

Q-8 Select the correct option that will fill in the blank and complete the series.
2,3:4,8,16,25,52,
Ans X1 114
X2 85
Vs 68
X479

Question ID : 9895803863
Chosen Option : 1

Q-9 Choose the figure from the options that would follow next in the given series.
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Question ID : 9895803869
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
BDFH : AFCL :: FHIL : ?

Ans - X 1. EIGP
X 2. EJFO
& 3. HFGN
v 4 EIGP

Question ID : 9895803855
Chosen Option : 2

Q.1 Which of the following Venn diagrams correctly represents the relationships among the classes:

Educated, Mothers, Employed

Ans

Question ID : 9895803874
Chosen Option : 2

Q.1 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.
2

Ans X 1. 84
X291
X3 42
v 55

Question ID : 9895803866
Chosen Option : 3




Q.1 Ifin a code language SYMPHONY is coded as ZOPIQNZT, then THURSDAY would be coded as:
3

Ans X 1. UIVSTEBZ
& 2. ZBETSIVU
X 3. XZCRQTGS

v . ZBETSVIU

Question ID : 9895803856
Chosen Option : 1

Q41 Select the correct option that will fill in the blank and complete the series.
2.5.7:92.12.31,50

Ans X118

V219

X3 25

X421

Question ID : 9895803864
Chosen Option : 3

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
5 s true, even if it appears to be at variance with generally established facts. decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some mangoes are fruits.
2. All fruits are sweet.

Conclusions:
I. Some sweet objects are mangoes.
II. All sweet objects are fruits.

III. Some mangoes are neither fruits nor sweet.

Ans 1. Only conclusions I and III follow

N

. Only conclusions II and III follow

w

. Only conclusions I and II follow

4. Only conclusion I follows

Question ID : 9895803862
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

Torture : Cruelty :: Forgiveness : ?
Ans X 1. Politeness
2. Generosity
& 3. Gratitude
X 4. Excuse

Question ID : 9895803854
Chosen Option : 1

Q.1




Choose the figure from the options in which the figure marked ‘X’ is embedded.

Ans

ST

Vs

x o CININ

Question ID : 9895803872
Chosen Option : 3

QL Pick the odd pair out.

Ans XK1 14-41
v 2 17-52
X 3. 23-32
X 412221

Question ID : 9895803865
Chosen Option : 1

Q.1 V.X.Y and Z are playing cards. X is to the left of Y and V is to the right of Z. If X is facing West, which direction is V

9  facing?

Ans o 1. North
X 2. South
< 3. West

X 4. East




Question ID : 9895803858
Chosen Option : 4

Q(')Z Which two signs should be interchanged to make the following equation correct?
12+16+8%x4—-8=24
Ans X1 +and x

XZ. % and —
X 3. =+ and x
v i _and+

Question ID : 9895803868
Chosen Option : 2

Q1.2 Which one of the following four-letter clusters does NOT belong to the group?

Ans X 1. CXWD
v 2. FUSG
X 3. DWTIG
X 4 BYWD

Question ID : 9895803851
Chosen Option : 2

QZ'Z Select the correct option that will fill in the blank and complete the series.
cab, gef, ljk.1pq.
Ans  of 1 yWX
< 2 yXW
X 3 ZXy
X 4 wvu

Question ID : 9895803850
Chosen Option : 4

Q.2 Select the figure which when placed in the blank space of the figure marked ‘X’ would complete the pattern.
3
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Question ID : 9895803870
Chosen Option : 1

Q.2 Among six objects P. Q. R, S. T and U, Q is heavier than R but lighter than T. S is lighter than T but heavier than U. P is
4 lighter than Q but heavier than S. Which is the second heaviest object?

Ans of 1. Q
X2T
X3 P
Xas

Question ID : 9895803860
Chosen Option : 2

Q.2 The numbers in the following set are related in a certain way. Choose the set that is similar to the following set:
5

{6. 10, 8}
Ans 1 {8.12,9}
2. {5,113, 12}
3. {13,17, 16}
4. {3, 6,4}
Question ID : 9895803867
Chosen Option : 4
Qéz The famous playback singer is a recipient of the Bharat Ratna Award.

Ans 1. Shubha Mudgal

/< 2. Asha Bhonsale
3. Shreya Ghoshal

4. Lata Mangeshkar

Question ID : 9895805415
Chosen Option : 4

Q2 Which day is celebrated as the World Environment Day?

Ans of 1 5th Tune
& 2. Ist December
3. 5th August

X 4. Ist May

Question ID : 9895805426
Chosen Option : 1

Qéz Who is an ‘indentured labourer’?

Ans - X 1. A slave from Africa
& 2. A labour bought in a market




& 3. Anunpaid labourer
v

A bonded labourer, working to pay off his passage to a new country

Question ID : 9895805432
Chosen Option : 2

Q.2 is known as the Eastern Mountain Range.
Ans 1. Patkai Range

& 2. Aravalli
& 3. Karakoram
& 4. Shivalik

Question ID : 9895805429
Chosen Option : 2

%3 What do banks utilize a major portion of the deposits for?

Ans of 1. Loans

X 2. Guarantee
& 3. Interest
& 4. Collaterals

Question ID : 9895805417
Chosen Option : 1

Q1-3 In the context of Indian National Movement, who was known as ‘Frontier Gandhi’?

Ans 1. Maghfoor Ahmad Ajazi

v 2. Khan Abdul Gaffar Khan
3. Udham Singh

4. Ashfaqulla Khan

Question ID : 9895805431
Chosen Option : 1

%3 What is diluted acetic acid commonly known as?

Ans X 1. Oleum
&< 2. Blue vitriol
3. Vinegar

& 4 Alum

Question ID : 9895805424
Chosen Option : 1

Q3'3 The slogan “Workers of the world unite™ was associated to:

Ans - X 1. French revolution
& 2. American revolution

v




4. Japanese revolution

Question ID : 9895805433
Chosen Option : 1

Q3 The ICC Emerging Player of the Year 2018 was awarded to

Ans 1. Hardik Pandya
& 2. K.L.Rahul

v 3. Rishabh Pant
& 4. Shikhar Dhawan

Question ID : 9895805412
Chosen Option : 4

Q;’ The first amendment to the Indian Constitution was made in

Ans X1 1947
X 21948
v 3 1951
& 4. 1950

Question ID : 9895805421
Chosen Option : 3

%3 Which type of micro-organism causes typhoid?
Ans - X1 Virus

v 2 Bacteria

< 3. Fungi

< 4. Protozoa

Question ID : 9895805427
Chosen Option : 2

Q7'3 The Constitution of India contains schedules.

Ans X111
v 12
~<3 14
X213

Question ID : 9895805420
Chosen Option : 2

Qé3 When a force resists the relative motion between two surfaces, it is called

Ans X 1. Resistance
< 2. Convection
v 2. Friction
& 4. Induction

Question ID : 9895805423
Chosen Option : 1




| < x
ng What is the movement of a plant due to the stimulus of light known as?
Ans 1. Respiration
< 2. Geotaxis
3. Geotropism
4. Phototropism

Question ID : 9895805425
Chosen Option : 1

A4 - .
QO Malgudi Days was written by .

Ans - X 1. Shashi Tharoor
< 2. Vikram Seth

3. Amish Tripathi

+ 2 R. K. Narayan

Question ID : 9895805416
Chosen Option : 4

Qi4 Who won the National Squash 2018 Womens Singles title?
Ans 1. Dipika Pallikal

& 2. Bhuvaneshkumari
& 3. Urwashi Joshi
4. Joshna Chinappa

Question ID : 9895805413
Chosen Option : 3

Q2-4 River Yamuna does NOT pass through which of the following states?
Ans - X 1. Uttarakhand
/< 2. Haryana
3. Gujarat
X 4. Uttar Pradesh

Question ID : 9895805430
Chosen Option : 1

Q.4 What is an annual statement of receipts and expenditure of the government over a fiscal year is known as?
3

Ans 1. Capital
X 2. Revenue
X 3. Tax
v 4 Budget

Question ID : 9895805418
Chosen Option : 4

Q4




4
Ans - X 1. Assam — Kathakali

& 2. Tamil Nadu — Odissi
v 3. Uttar Pradesh — Kathak
4. Punjab — Mohiniyattam

Question ID : 9895805409
Chosen Option : 1

%* Which one of the following is a labour intensive industry?

Ans X 1. Pulses
v 2 Tea
X 3. Maize
& 4 Wheat

Question ID : 9895805428
Chosen Option : 1

Q.4 Under which of the following situations. the Fundamental Right to Freedom is curtailed in India?
6

Ans 1. Financial Emergency
2. Epidemic Emergency
/< 3. State Emergency

4. National Emergency

Question ID : 9895805422
Chosen Option : 4

Q7'4 Nalanda was an ancient centre of learning for which religion?
Ans - X1 Islam
2. Christianity

& 3. Tainism
v 4 Buddhism

Question ID : 9895805411
Chosen Option : 4

Q.4 Which of the following statement is NOT correct in the context of rising importance of tertiary sector in India?
8

Ans

[N

. Growth of information and technology

N

. Growth in per capita income

w

. Growth of service providing industries

S

- Growth of political awareness in rural areas

Question ID : 9895805419
Chosen Option : 4

% Ustad Amjad Ali Khan is famous for playing the .

Ans 1.




& 2. violin
X 3. veena
v 4 sarod

Question ID : 9895805410
Chosen Option : 2

st RK Laxman is famous for
Ans 1. wall painting

X 2. classical music
& 3. films
« 2. cartoons

Question ID : 9895805414
Chosen Option : 3

Q.5 When a person goes to his office from his house with a speed of 10 km/hr, he is late by 20 minutes. When he goes with
1 speed of 15 km/hr, he is late by 5 minutes. What is the distance (in km) between his office and house?

Ans Xl_ 8
V2175
K37
X4 85

Question ID : 9895805734
Chosen Option : 2

QZ'S The value of:

oriz-tort] «[1- tx(5+2)] <

Ans

1
G
"%

X 28
X34
1

4, i—

16

Question ID : 9895805716
Chosen Option : 2

Q.5 What is the sum of digits of the least number which when divided by 21, 28, 30 and 35 leaves the same remainder 10 in
3 each case but is divisible by 17?

ans X111
v 213
<314
K410

Question ID : 9895805715
Chosen Option : 3

.




Q.5 A park is in the shape of a rectangle. Its length and breadth 240 m and 100 m, respectively. At the centre of the park.
4 there is a circular lawn. The area of the park, excluding the lawn is 3904 m? What is the perimeter (in m) of the lawn?

(usew = 3.14)

Ans o 1502.4
X 2.516.2
X 3. 508.6
X 4 512.8

Question ID : 9895805730
Chosen Option : 2

Qé5 The value of :

125-[1+{3+(2—04 X 2.5)]]
Ans X' 1.2
v
<30

1
N ez
2

Question ID : 9895805717
Chosen Option : 4

Q.5 The profit on selling 35 mangoes is equal to the cost price of 7 mangoes. What is the profit percentage?
6

Ans

1

v 2 20
< 3 25

2
K 416=
1 3

Question ID : 9895805721
Chosen Option : 2

Q.5 A train takes 3 hours less time for a journey of 360 km, if its speed is increased by 10 km/hr from its usual speed. What
7 isits increased speed (in km/hr)?

Ans of 140
X2 42
X3 36
X 430

Question ID : 9895805733
Chosen Option : 3

Q.5 After allowing a discount of 12; % on the marked price of an article, it was sold for ¥700. Had the discount NOT been
8  given, the profit would have been 60%. The cost price of the article is:

Ans o 1 F500
< 2. T540
< 3. 600
X 4. 480




Question ID : 9895805720
Chosen Option : 4

Q.5 If(x+4).(x+12),(x—1),and (x +5) are in proportion then the mean proportional between x and (x —7) is:
9

Ans X 1.9
X216
K315
V12

Question ID : 9895805725
Chosen Option : 3

Q.6 Three positive number are given. If the average of any two of them is added to the third number, the sums obtained are
0 172,216 and 180. What is the average of the given three numbers?

Ans X193

1
~ 2 &
953

2
V3942
943

X 4 96

Question ID : 9895805719
Chosen Option : 1

Q.6 The selling price of an article is 84% of its cost price. If the cost price is increased by 20% and the selling price is
1 increased by 25%, what is the percentage increase/decrease in the loss with respect to the earlier loss?

Ans 1
v 6 %, decrease
2
2. 6; %. decrease
1 s
3. 6; %. increase

2 s
4, 6; %. increase

Question ID : 9895805722
Chosen Option : 3

Q.6 2 men and 7 women can do a piece of work in 14 days whereas 3 men and § women can do it in 11 days. In how many
2 days 5 men and 4 women can do the same work?

Ans of 111
<212
<314
&< 410

Question ID : 9895805735
Chosen Option : 1

Q.6 A metallic sphere of radius 4 cm is melted and the cast into small spherical balls, each of diameter 0.4 cm. The number
3 of small balls will be:

Ans X 1. 1000
W 2 8000
< 34000

< 42000




Question ID : 9895805732
Chosen Option : 4

Q.6 A sum 0f%14460 is divided among A, B. C and D such that the ratio of share of A and Bis 3 : 5. that of Band Cis 6 : 7
4 andthat of C and D is 14 : 15. What is the difference between the shares of A and C?

Ans X1 %1440
< 2. F1500
< 3 32100
v 1 22040

Question ID : 9895805726
Chosen Option : 2

Q.6 A pipe can fill a tank in 10 minutes while another pipe can empty it in 12 minutes. If the pipes are opened alternately
5 each for 1 minute, beginning with the first pipe, the tank will be full after (in minutes):

Ans - X190
v 2. 109
< 3108
X 4120

Question ID : 9895805736
Chosen Option : 4

Q.6 Renu saves 30% of her income. If her savings increases by 30% and the expenditure increases by 25%, then the
6 percentage increase in her income is:

Ans - X130
X2 258
V'3 265
X415

Question ID : 9895805723
Chosen Option : 3

Q.6 Study the following table and answer questions:

7
Number of employees working in five different companies.

Company | No of Ratio of
Employees | Males

&
Females

A 380 1356

B 420 4:3

€ 360 8:7

D 320 11:9

E 280 3.5

The ratio of the number of male employees in company C to the number of female employees in the company D is:
Ans X1 3:2
X2 5:2
Vs 4:3
X48:9

Question ID : 9895805737
Chosen Option : 4

Q.6 The compound interest on a sum of T15625 for 2% years at 16% per annum, The interest compound annually is :
8

Ans X' 1. F6661




X 2. 35400
X 377932
v i T7923

Question ID : 9895805728
Chosen Option : 3

Q.6 A and B are two cones. The curved surface area of A is twice that of B. The slant height of B is twice that of A. What is
O the ratio of radii of A to B?

Ans 1312
> 2
Vv
~oa

[ ST
—

Question ID : 9895805731
Chosen Option : 2

Q.7 Study the following table and answer questions:

Number of employees working in five different companies.

Company | No of Ratio of
Employees | Males

&
Females

A 380 1356

B 420 4:3

C 360 827

D 320 11:9

E 280 3:55

The number of female employees in company C is what percent more than the number of male employees in company
E?

Ans Xl- 55
v 2 60
X3 48
~ 4 54

Question ID : 9895805739
Chosen Option : 3

Q.7 Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the numbers so obtained are in the ratio 12 : 23. If 3 is
1 added to the smaller number and 7 is subtracted from the other number. there they will be in the ratio:

Ans X' 1.5:6
X2 4:5
V3 3:4
Xa5:8

Question ID : 9895805724
Chosen Option : 1

Q7




Study the following table and answer questions:

Number of employees working in five different companies.

Company | No of Ratio of
Employees | Males

&
Females

A 380 13:56

B 420 4:3

€ 360 87

D 320 11:9

E 280 3:25

What percent of total male employees in companies A and B is the number of female employees in E?

Ans of 1. 35
X 2 36
< 3 30
X2 32

Question ID : 9895805738
Chosen Option : 4

Q:é7 What is the mean of the range, median and mode of the data given below?

1,2.5,9,6.3.9,7.4,3.9.1,9.6. 8, 1
Ans 1

Question ID : 9895805729
Chosen Option : 4

. e simple interest on a certain sum at o per annum I0r 5— years 1S % at wi € amount O € same sum
Q.7 The simple interest rtai 14% p for32 is T3731. What will th t of th

for 5% years at half the earlier rate?

Ans X1 F11931
< 2. F11913
< 3. 11537
v Z11357

Question ID : 9895805727
Chosen Option : 2

Q.7 The average height of a certain number of persons in a group is 155.5 cm. Later on 4 persons of height 154.6 cm, 158.4
5 cm, 152.2 cm and 153.8 cm leave the group. As a result the average height of the remaining persons increases by 0.15
cm. What was the number of persons initially in the group?

Ans X118
X 2 20
X3 22
v 24

Question ID : 9895805718
Chosen Option : 1




Section : English Language

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

Had you told me that you were in Mumbai I could have certainly contacted you instead of waiting here.

Ans X' 1. you were
2. Had you

v 3. could have
& 4 instead of

Question ID : 9895805256
Chosen Option : 4

Q2 Select the correctly spelt word.
Ans " 1. Contemparary

« 2. Contemporary

/< 3. Comtemporary

#< 4. Contempory

Question ID : 9895805278
Chosen Option : 3

Q3 Select the word which means the same as the group of words given.

One who loves mankind
Ans - X 1. Humanist
2. Philologist

3. Philanthropist
4. Philosopher

Question ID : 9895805277
Chosen Option : 4

Q4 Select the synonym of the given word.

ABILITY
Ans 1. Disposition
< 2. Outlook
& 3. Instinct
4. Capacity

Question ID : 9895805270
Chosen Option : 2

Q3 Select the antonym of the given word.

VIRTUOUS
A X1 Worthy

< 2. Honest
~ 3.




v 4 Vicious

Question ID : 9895805273
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Fundamentally, all human beings possess a combination of fixed
inherited traits. All individuals possess the (1) highly
developed nervous system, backbones, erect posture, hair, etc.
Therefore, (2) among human beings arise only in (3)
changes of this basic pattern. Racial differences (4) one of
the finest distinctions and are based only on (5) slight differences.
SubQuestion No : 6

Q€ Select the most appropriate option that will fill in
the blank number 1.

Ans - X' 1. patural
2. large

« 3 same

< 4. different

Question ID : 9895805265
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Fundamentally, all human beings possess a combination of fixed
inherited traits. All individuals possess the (1) highly
developed nervous system, backbones, erect posture, hair, etc.
Therefore, (2) among human beings arise only in (3)
changes of this basic pattern. Racial differences (4) one of
the finest distinctions and are based only on (5) slight differences.
SubQuestion No : 7
Q7 Select the most appropriate option that will fill in
the blank number 2.
Ans - X 1. similarities
/< 2. paturalness
#< 3. sameness

v 4 variations

Question ID : 9895805266
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Fundamentally, all human beings possess a combination of fixed
inherited traits. All individuals possess the (1) highly
developed nervous system, backbones, erect posture. hair, etc.
Therefore, (2) among human beings arise only in (3)
changes of this basic pattern. Racial differences (4) one of
the finest distinctions and are based only on (5) slight differences.
SubQuestion No : 8

Q8 Select the most appropriate option that will fill in
the blank number 3.

Ans o 1. minor

2. complete

3. large

#< 4. fundamental

Question ID : 9895805267
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Fundamentally, all human beings possess a combination of fixed
inherited traits. All individuals possess the (1) highly
developed nervous system, backbones, erect posture, hair, etc.
Therefore, (2) among human beings arise only in (3)
changes of this basic pattern. Racial differences (4) one of
the finest distinctions and are based only on (5) slight differences.
SubQuestion No : 9

Q9 Select the most appropriate option that will fill in
the blank number 4.

Ans X1 show

« 2. represent
3. give

/< 2. present

Question ID : 9895805268
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Fundamentally, all human beings possess a combination of fixed
inherited traits. All individuals possess the (1) highly

developed nervous system, backbones, erect posture, hair, etc.

Therefore, (2) among human beings arise only in (3)

changes of this basic pattern. Racial differences (4) one of

the finest distinctions and are based only on (5) slight differences.

SubQuestion No : 10
Q1




0 Select the most appropriate option that will fill in
the blank number 5.

Ans X 1. hidden
2. possible

< 3. clear

v 4. certain

Question ID : 9895805269
Chosen Option : 4

Ql-l Fill in the blank with the most appropriate option.

Devika isthemost _ of them all and has managed to do well in her profession.
Ans 1. intelligent
2. simple

& 3. insolent

& 4. audacious

Question ID : 9895805281
Chosen Option : 3

Q2'1 Select the option that means the same as the given idiom.
Have several irons in the fire
Ans 1. Doing iron related work
2. Having too many engagements at a time
3. Burning unwanted pieces of iron

4. Talking to many persons simultaneously

Question ID : 9895805275
Chosen Option : 4

A H AT
Q3 Select the synonym of the given word.

CHARACTER
Ans X 1. Performance
2. Spirit
/3. Mannerism
v 4. Trait

Question ID : 9895805271
Chosen Option : 2

Q1 Select the antonym of the given word.

TRANSPARENT
Ans X 1. White-coloured
< 2. Translucent

X 3. Milky




« 2 Opaque

Question ID : 9895805272
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No improvement.

The rules of chess require that one has to makes only one move at a time.

Ans - X1 made
v 2. has to make
< 3. will make
4. No improvement

Question ID : 9895805261
Chosen Option : 4

Qél Select the word which means the same as the group of words given.

A person who is more than hundred years old
Ans X 1. Centurial
< 2. Centuriator
< 3. Centurion
v 4 Centenarian

Question ID : 9895805276
Chosen Option : 2

A -
Q7 Select the correctly spelt word.

Ans

[N

. Incorigible

N

. Incorrigible

w

. Incourrigible

~

. Incorrigibel

Question ID : 9895805279
Chosen Option : 1

Qél Select the most appropriate option to fill in the blank.

He has been my birthday all week!

Ans X' 1 celebrate

2. celebrating

& 3. celebrated
& 4 celebrates

Question ID : 9895805263
Chosen Option : 3

Q.1




Fill in the blank with the most appropriate option.

Sureshis  incollecting stamps.
Ans X 1. habitual

v 2 interested

/< 3. customary

X 4. habituated

Question ID : 9895805280
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

He decided to leave very quickly the hotel.

Ans 1. leave the hotel quickly.

N

. leave quickly the hotel.

w

. quickly leave hotel.

4. No improvement

Question ID : 9895805260
Chosen Option : 4

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
1
If the report did not have the information needed it could not be used by them.

Ans 1. be used by them

& 2. it could not
v 3. Ifthe
& 4. information needed

Question ID : 9895805258
Chosen Option : 2

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
The errors for the typed reports were so numerous that they could hardly be overlooked.
Ans 1. typed reports
2. could hardly be
# 3. 50 numerous

v 4. errors for

Question ID : 9895805257
Chosen Option : 4

%2 Select the most appropriate option to fill in the blank.

in Nagpur, we are unwilling to move to another city.

Ans X 1. Since we have lived

2. Since we were living

/< 3 Being that we are living




4. Since we have been living

Question ID : 9895805262
Chosen Option : 3

Qf Select the option that means the same as the given idiom.

In high spirits

Ans - X 1. Become successful
2. Feel joyful

# 3. Create confusion

& 4 Remain calm

Question ID : 9895805274
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No improvement.

Though a hero, he acted a coward.

Ans of 1 like a coward

2. cowardly
3. No improvement

X 4. as coward

Question ID : 9895805259
Chosen Option : 3

Section : Hindi Language

Q1 Ry 71w areF # g T AT FY o #E R
Faar g W siant @ afedl @ sfa &1 #ffdeT = F1 Ater Fe S
- HF FT HAAGH A FT
- Al e S B
3. EFﬁFlT'g?lﬁqT

- SarHt @ arferr garT

Ans

[N

N

~

Question ID : 9895805564
Chosen Option : --

** Ru T ereg # fFEE I

e
A e




Question ID : 9895805578
Chosen Option : --

% TEr TS AT e T AT F
Ans la.'ma.

Question ID : 9895805586
Chosen Option : --

' R AT g ¥ TATTETET e FT AUA FY

Te
Ans X1 AT
X2 Fgaa

3.@1‘
.. fAspas

Question ID : 9895805580
Chosen Option : --

Comprehension:
frrafofEe srezrer & Raa st $ gfd egrer & @=
T 1w weat & AR HT -

freT & orETereT T uF =t F HfEET 9T 9
foam &1 ifgEr & ammeT ey § Ol o (1)
H T ANATI Weg AEHT &1 39 Faer ardife o
AR TF AT NRT ARG AT, T T a7 T
oy sofr (2) & wg=mar & afdar 81 AR
gafedrar _ (3) @&l & Weha ar g Tl @
N o FT FOFR off FAET g1 HEHT oI @fET *
T+ H N T Tfed off 99 IHR F $SA1-gaV e
¥_ @@sag afgmmegd (5 7@
FATdr g el s 2
SubQuestion No : 5

¥ arezrer # wHfaa Rea wE (1) F e suged
rec g9 -

Ans 1-ﬁ3

v 2 grof




4 4 T

Question ID : 9895805573
Chosen Option : --

Comprehension:
frafaf@a sqamer & Nea vt & gfd sgzrer & e
few a1 weat & srgER HfST -

e & erster Wl uF It 7 AT IoF W T
fear g1 fgar & g e g O o (1)
P T ARAT Weg AEHT & 3T Fhaer i o
T F I & WA AT ¢ AT W, T97 § JA FH F
Y sofr = (2) o wg=me & afgwr g1 AR
g7 fFdr #r (3) FET & TR ar g el @
NaT o FT HOFT o FAGT g1 HFWT et =T F
TU% H 3’ I Tiaa ot T9 TR F $5aT-gay e
¥_ @@ g afgamer (5 a&
T 3G el S ¥
SubQuestion No : 6

°° sty # o Red T (2) F e 3ugea
Ay g -

Ans of 1 GHeAIT
< 3. TATAT
X 4. TS

Question ID : 9895805574
Chosen Option : --

Comprehension:




ferafaf@a ez & Rea wa=r & 9fF ez & a9
o a1 weat & srgER HfeT -

e & oferster Wl uF It 7 AT Io A 9 T
fear g1 ifgar & g e g e o (1)
P T ARAT Weg HAEHT 1 7T Faer i Far
T T & WA AT 81 7T W, 997 § AT FH §
oy sofr (2) o wg=men & afewr g1 Ay
g7 et & (3) FET & Teha ar g fFdr v
Saa A & JAFR ofr 77 1 HEar Ior Foa &
T H e Tl g off TF YR F $A1-gaT A
¥_ @@sag dfgmmen _ (5) 7@
TAT g arfedemel s= T gl
SubQuestion No : 7

7 ety # o Red Tue (3) F e 3ugEa
e g -

Ans l'%ﬂT
X 2. HleT

3.§1U

X 4 e

Question ID : 9895805575
Chosen Option : --

Comprehension:
frrafoaf@a searer & Rea Tt & qfd sgzrer & J=r
T 1w weat & AR AT -

freT & orETerer T uF =t 7 HfEET 9T 9§
e 31 3ifewr &1 areeT et § el oft (1)
T AT e Aear 1 74w Faer il
AFH TF I NRNT AT A7 X, T T T FA T
frr ot st (2) & g & aifewr @1 A
g7 et & (3) FET & Tha dr g Tt &
T o FT FOFR off AET g1 FEAr o I@ET
TI% H 3’ I FiFa ff 9 THR F s5aT-gay e
¥_ @@ ag dfgamen _ (5) 7@
T g arfedemel sa T gl

SubQuestion No : 8




*° aregier # WHfad Red T (4) F v sugET
oreg; B -
Ans l_;ga;r

2.%3'?[
<5 TET
X a3

Question ID : 9895805576
Chosen Option : --

Comprehension:
frafaf@a ez & Raa wumEr & ofd sregrer & A=
T 1w weat & AR HT -

freT & orETereT @Y uF =t 7 HfEEr 9o 9
e 31 3fwr &1 areeT e § e oft (1)
F T ANAT Weg AEHT &7 3T Faer i o
AR TF AT NRT ARG AT, T T a5 T
oY sofr (2) & wg=man & afdar 81 AR
g7 oy 1 (3) FET & Tehat dr g forar &1
N A FT FOFR off FAET g1 HEAr oIk I@ET F
T H N T Tfed off 99 IHR F $SA1-gaV e
¥_ @@ afgmegd (5 7@
FaATdr g AfFaerel s g
SubQuestion No : 9

*? aregrer # WHiad Red T (5) F v sugFa
e g -

Ans 1-3:"@"

Question ID : 9895805577
Chosen Option : --

Ol Rw 1w AR F Ag ST AT H A Fg TR P
s orw IR 9T ¥ 30F THS TAR ST S Heqd! e &% adr §
e s o IR g
z.ga?-‘l’ﬁ?a?ﬁg'l
3. 3 HHA




4 FER AT FT 9cadr

Question ID : 9895805563
Chosen Option : --

U R T Ty F AT v o S

S a9 F FHT
Ans (lm‘\ﬁm

Question ID : 9895805584
Chosen Option : --

% Red = # RS F O 39 e F T A
g Fr ¥ T =TT

2. FOI=Er
4 FataAr

Question ID : 9895805569
Chosen Option : --

% T T e @ e\ g4

T
Ans  of 1 ST

: forra
3. 3T
X o HTOT

Question ID : 9895805579
Chosen Option : --

U RT 71T oeg F THIETET o T IIT FL
o

Ans 1. ﬁag
X 2. T

. Feay
X 4 TETE




Question ID : 9895805581
Chosen Option : --

U R T TRy F BT U o S

S Feag H UF S AT @
A greanfee

Question ID : 9895805585
Chosen Option : --

QL R a1e e # Y@ifdd @5 # sfoeura 1 & e sugwd Red #1 w7 #|
et i o X F ge e ik B & g B
ANS L Y & e B I
2. fopdY &1 AT R 1O
3. ey &7 weAT BRI
4 f&dY Fr weAT @ A=)

Question ID : 9895805566
Chosen Option : --

% Ra T @ R F T 39gEa e # AT F

AT e F g2 A #1 i feam
Ans X1 TeTH
2. dRar
s e
X 4 HIIRAT

Question ID : 9895805568
Chosen Option : --

Ol Rw are A # Y@ifhd WS # S w2 & A s9gE BT H ww H
St ofsm ¥ g Asar §, 98 SiEa A Ros e g
S L g SEa A
2 F SlET #

. Hg AET H
‘g SEdT H

Question ID : 9895805565
Chosen Option : --




Q! Pewfafe & ¥ 30 RFeT 71 T X A G T G T T e
MK L g srEme g

z.gmamm

3. @W@Fﬂ

4. TRATA el

Question ID : 9895805583
Chosen Option : --

% Rera T @ s F I sugeE oeg # I

p==psp=cColi-o) quTHAN & Ao am)
Ans 1_333.-
2.33@'

X3 T
PSR-

Question ID : 9895805570
Chosen Option : --

Y T I T U FT TTA FL
AHSX1.§ T

Question ID : 9895805587
Chosen Option : --

Q2 R o s # Ywifha @S F sfowfa w4 & o s9gea Reer 71 s =
T THEEAT FEar ¢ o s sy R § zua gz At feEn &

A1 3E g3 ar fReeET &

2. 3FH T ar e &

3 38 g3 ar f&eem €

« 38 | g3 ar e &

Question ID : 9895805567
Chosen Option : --

Q3-2 =fafea # & 38 Rees & 99w F{ S 9is suar Jgay # 37Y wawd FT g

Ans

L =S g IE T@&AT




X 2. ol FTAT

N

3. 9T fe@e 9T TROT B
4 9 H 4F Srear

Question ID : 9895805582
Chosen Option : --

—
% Raa T # aRa & T 39ged wee 7 w0 w0

TH 39 g 9T 7T gl
Ans 1'?1-(

Question ID : 9895805571
Chosen Option : --

—
Qszﬁvmmwagmmﬁmﬁaﬂégﬁ%l

ey fagaredt & 7ot wEr shaw =9 AR g B
e ;‘|><1-%=_IUT
2. g@IeT S 3= AR
5 1Y faezmdt
+ e gl

Question ID : 9895805562
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :
Registration
No.
Name :
. [ION Digital Zone iDZ Gram Raigawan Near Patan
Exam Venue : Bypassg 9
Exam Time: [4:00 PM - 5:30 PM
Exam Date : [19/02/2019

Section : General Section

Q.1 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.

Ans o 11321
X 2. 729
X< 3125
X 4343
Question ID : 9895803942
Chosen Option : 1
Q.2

Choose the option that would follow next in the given figure series.

=, =] ] M

Ans

Ko O
—
*
Vo] 2
H
*

xa| T
—
X 4 i
H
o

QUeston I . 969o50Us9490
‘ Chosen Option : 1 |

Q.3




Select the figure which when placed in the blank space of the figure marked ‘X’ would complete the pattern.

X)

Ans

X 3.

v

Question ID : 9895803946
Chosen Option : 4

Q4 Which number will follow next in the given number series?

15, 12, 19, 14, 25, 16, ?
Ans X1 35

v 33

X329

X 31

Question ID : 9895803939
Chosen Option : 2

Q> Choose the option in which the figure marked ‘X’ is embedded.

x)

Ans




Xz.\

F S

v

Question ID : 9895803948
Chosen Option : 4

Q6 Pick the odd one out.
Ans x 1. Tyre
v 2 Plate
3. Ring

4. Bangle

Question ID : 9895803928
Chosen Option : 2

Q.7 AGENDA is related to MEETING in the same way as PROGRAMME is related to:

Ans  of 1. FUNCTION
X 2. SPEECH
& 3. INAUGURATION
& 4. ORGANISATION

Question ID : 9895803929
Chosen Option : 1

Q8 Which one of the following four-letter clusters does NOT belong to the group?

Ans x 1. KQOM
X 2. CIGE




X 3. PVTR
v 1 WZXY

Question ID : 9895803927
Chosen Option : 4

Q.9 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. All roads are streets.

2. Some streets are avenues.

Conclusions:
I. Some roads are avenues.

II. All avenues are roads.
Ans  of 1. Neither conclusion I nor II follows
< 2. Both conclusions I and II follow

3. Only conclusion II follows

4. Only conclusion I follows

Question ID : 9895803937
Chosen Option : 3

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
0

Temple : Worship :: Court : ?
Ans X1 Lawyer
' 2. Argument
3. Judge

X 4. Jurisdiction

Question ID : 9895803930
Chosen Option : 4

Q.1 Six girls are sitting in a row facing West. Kim is to the left of Sima and Sony is between Piku and Ria. There are two
1 people seated between Piku and Sima, who is separated from Neela by one person. If Piku is seated at one end of the
row, who is at the other end?

Ans of 1. Neela
X 2. Sima
& 3 Ria
X 4 Kim

Question ID : 9895803935
Chosen Option : 1

Q.1 The numbers in the following set are related in a certain way. Choose the set that is similar to the following set:
2

{128, 8,32}

Ans 4 €144, 36, 72}




2. {196, 7, 14}
3. {64, 4, 16}
s, {122, 10, 30}

Question ID : 9895803943
Chosen Option : 3

Q3-1 Select the correct option that will fill in the blank and complete the series.

dmt, kv, ihy, mde,
ans K1 pxi
X 2 17h

3. qzl

4. ryh

Question ID : 9895803926
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
4

BYWD : DWUF :: FUSH : ?
Ans o 1 HSQJ
X 2. IQOL
X 3. HSIQ
& 4 HTRJ

Question ID : 9895803931
Chosen Option : 1

Q.1 Ris taller than T. Both P and Q are taller than S, whose height is between P and T. If S is taller than T, who is the
5 shortest?

Ans X1 Q
X228
X3P
T

Question ID : 9895803936
Chosen Option : 4

Q.1 Ifinacode language ADVENTURES is coded as VDANEUTSER, then SYSTEMATIC would be coded as:
6

Ans X 1. YSTSMETACI
v 2. SYSETAMCIT
& 3. SYSMETITAC
X 4. CITETAMSYS

Question ID : 9895803932
Chosen Option : 2

Q.1 Six persons A, B, C, D, E and F are sitting around a round table facing the centre. B is seated to the left of D. E is seated
7 tothe right of C. A is facing F. who is seated to the left of C. Who is seated to the left of A?




Ans ( 1.
52
F S
X a

O O W

Question ID : 9895803934
Chosen Option : 2

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
8 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some animals are tigers.

2. All tigers are vertebrates.

Conclusions:
1. All vertebrates are tigers.

II. Some vertebrates are animals.

Ans 1. Only conclusion II follows

< 2. Neither conclusion I nor II follows
3. Only conclusion I follows

X 4. Both conclusion I & II follow

Question ID : 9895803938
Chosen Option : 4

Qél Select the correct option that will fill in the blank and complete the series.

5, .10,19,35,60
Ans X' 1.9
X 27
<38
vi6

Question ID : 9895803940
Chosen Option : 4

Q(-)2 Which two signs should be interchanged to make the following equation correct?

6 X2+8-16+4 =18

Ans 1 +and +
V3 +and x
X3 —and+
X 4 xand+

Question ID : 9895803944
Chosen Option : 2

Q.2




1 Which of the following Venn diagrams correctly represents the relationships among the classes:

Products, Factory, Machines

Ans T e e

x.( () (

X ( () )

v » )

Question ID : 9895803950
Chosen Option : 4

Q.2 Choose the alternative which most closely resembles the mirror image of the given word when mirror is placed at right
2 side.

7
&

Ans

\

T
(1

v

Q (]
XY

2




(TR
X 4 ‘<‘
>

Question ID : 9895803947
Chosen Option : 3

Q.2 How would the pattern given on the square transparent sheet marked ‘X" look when the sheet is folded along the dotted
3 line?

(X)

Ans ———I
|
|

F ( !
I
|

e |
SL |
!

K2 g i
|
|

o—— |
]
|
|

e |
|
|

2 e |
—
l

- |

I s :
|

o e |

Question ID : 9895803949
Chosen Option : 4

Q2 Pick the odd pair out.
Ans X0 1. 17-49

v 2 15-41

K 3. 9-25




< 4.5-13

Question ID : 9895803941
Chosen Option : 3

Qéz If in a code language BADE = 1254 and HATE= 18520, then HEALER = ?

Ans X1 18512158
X 2. 58112158
v 3. 58121185
X 4. 15818512

Question ID : 9895803933
Chosen Option : 2

Qéz India recognizes the Right to as being part of Right to Life (Article 21).

Ans  of 1 Water
X 2. Medication
< 3. Acceptance

X 4. Fitness

Question ID : 9895805472
Chosen Option : 3

Q.2 Neutral, expansionary, and contractionary strategies are related to which policy of the government?
7
Ans 1. Banking policy
2. Fiscal policy
3. Monetary policy
4. Budgetary policy

Question ID : 9895805467
Chosen Option : 1

%2 During whose rule was the historical Nalanda University established?
Ans X 1. Bindusara
2. Chandragupta
« 3. Kumaragupta
& 4 Dasratha

Question ID : 9895805481
Chosen Option : 1

Q9-2 Which among the following is the smallest mountain range in the world?

Ans X 1. Ural
& 2. Sierra Nevada

3. Alps
v 4. Sutter Buttes

Question ID : 9895805479




l Chosen Option : 3 ]

0% ‘Hemis Festival’ is celebrated in which Indian state?
ans - X 1. Karnataka
2. Punjab

& 3. Tamil Nadu
v 4 Jammu and Kashmir

Question ID : 9895805460
Chosen Option : 4

Qi3 Which city among the following is the most densely populated city. as of 2018?
Ans X 1. Paris
2. Shanghai
< 3. Istanbul
v 4. Tokyo

Question ID : 9895805480
Chosen Option : 4

Q.3 Who has won Sayed Modi India Grand Prix Gold Badminton Title 2018 in Men’s Singles Titles?
2
Ans - X 1. Srikanth Kidambi
#< 2. Prannoy Kumar
3. Ajay Jayaram

« . Sameer Verma

Question ID : 9895805463
Chosen Option : 1

Q3'3 ‘Bishan Singh Bedi ’is a legendary Indian player of:
Ans 1. hockey

v 2. cricket
& 3. football
& 4 lawn tennis

Question ID : 9895805462
Chosen Option : 1

@3 Aravind Adiga got the prestigious Man Booker Prize for which book?
Ans 1. God of Small Things
2. The White Tiger
3. Selection Day
X 4. The Kite Runner

Question ID : 9895805464
Chosen Option : 3

T




Q.3 Eminent economist and columnist has resigned as part time member of Economic Advisory Council to the
5 Prime Minister Narendra Modi.

Ans 1. Raghuram Rajan
2. Jagdish Bhagwati
# 3. Arvind Subramanian
4. Surjit Bhalla

Question ID : 9895805468
Chosen Option : 2

Qé3 Which Indian state has the largest area under forest cover?
Ans - X' 1. Kerala
2. Chhattisgarh
3. Madhya Pradesh
& 4 Arunachal Pradesh

Question ID : 9895805476
Chosen Option : 3

Q7-3 ‘Thumur® a traditional dance form, is performed in which of the following states?
Ans - X 1. Qdisha
2. Madhya Pradesh

v 3. Assam
4. Bengal

Question ID : 9895805459
Chosen Option : 1

3¢ o & .
Q8 The Mousetrap’ was a famous play written by:

Ans 1. George Bernard Shaw

N

. William Shakespeare
. Agatha Christie
. Caryl Churchill

w

~

Question ID : 9895805465
Chosen Option : 1

Q.3 The ancient cities of Harappa and Mohenjo-Daro emerged along the banks of which river?
9

Ans 1. Brahmaputra River
2. Baghmati River
3. Ganga River

« 4 Indus River

Question ID : 9895805482
Chosen Option : 4

%4 The famous ‘Ratnagiri Monastery” is located in which Indian state?




Ans of 1 Orissa

& 2. Jharkhand

# 3. Karnataka
4. Gujarat

Question ID : 9895805461
Chosen Option : 4

Q.4 What was the event that fundamentally changed Sardar Vallabhbhai Patel’s life and drove him towards politics?
1

Ans 1. Meeting with Mahatma Gandhi in Godhra (year 1917)
2. Bardoli Satyagraha (year 1928)

3. The Gandhi Irwin Pact (year 1931)

4. Non-Cooperation Movement (year 1922)

Question ID : 9895805483
Chosen Option : 1

Q2'4 In which year was the Right to Education Act enacted in India?

Ans of 12009
X 2. 2004
X 3. 2011
X 42006

Question ID : 9895805471
Chosen Option : 2

Q.4 In which year did Ms. Sushmita Sen become the first Indian woman to win the ‘Miss Universe” title?
3

Ans - X 11991
v 2. 1994
X 3. 1998
X 4. 1996

Question ID : 9895805466
Chosen Option : 2

Q"“" Which of the following is regarded as the shortest river of India?

Ans X1 Kaveri
v 2 Arvari
X 3. Godavari
& 4. Narmada

Question ID : 9895805478
Chosen Option : 2

%4 Which of the following is a nocturnal animal?
Ans 1. Porcupine

X 2. Murids




/< 3. Hamster
v . Bat

Question ID : 9895805475
Chosen Option : 4

%4 What is the SI unit for the measurement of pressure?

Ans X 1. Newton
v 2 Pascal
< 3. Joule
/< 4. Ampere

Question ID : 9895805473
Chosen Option : 2

Q7-4 Which country among the following options has the shortest constitution in the world?

Ans 1. United Kingdom
X 2. Norway
' 3 United States of America
X 4 India

Question ID : 9895805470
Chosen Option : 2

Qé“ ‘Who is the founder of ‘Sulabh Sanitation and Social Reform Movement®?

Ans X 1. Baba Amte
/< 2. Medha Patkar
/< 3. Aruna Roy

v 2 Dr Bindeshwar Pathak

Question ID : 9895805477
Chosen Option : 2

Q.4 Baking soda, the common cooking ingredient, has which of the following chemical name?
9

Ans  of 1. Sodium bicarbonate
& 2. Sodium chloride
& 3. Sodium benzoate
4. Monosodium glutamate

Question ID : 9895805474
Chosen Option : 1

Q.5 Union Cabinet has decide to raise contribution of Central Government to National Pension System (NPS) corpus of its
0 employee from 10% to

Ans X1 20%
v 2 14%
X 3 12%
K a4




Question ID : 9895805469
Chosen Option : 2

Q.5 Study the following table. (which shows the number of units of an item manufactured and sold by 5 companies) and
1 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
(& 36 26
D 51 36
E 54 40

‘Which Company sold the highest percentage of units as compared to manufactured by it?

Ans X' 1. C
X2B
v E
XA

Question ID : 9895805787
Chosen Option : 3

Q.5 Walking at 75 % of his usual speed, Raghu is 80 minutes late to his office. What is his usual time in hours to cover the
2 same distance?

Ans Xl_ 3

Question ID : 9895805784
Chosen Option : 2

Q.5 Let x be the least number which when divided by 10, 12, 14 and 16 leaves the remainders 2, 4, 6 and 8, respectively, but
3 xisdivisible by 17. When x is divided by 52, the quotient is:

Ans X199
<2 95
<3 92
v 2 96

Question ID : 9895805765
Chosen Option : 3

Qf What is the average of the mean, median and range of the data:

34,41, 6, 13, 27, 20, 48, and 55 ?
Ans
Xt 36§

2. 30~
3

3 362
3

4 30
2

Question ID : 9895805779




l Chosen Option : 1

Q.5 Note-books are bought at 16 for 700 and sold at 11 for T500. How many notebooks should be sold to gain I450?
5

Ans X1 272
X 2. 254
V'3 264
X 4. 260

Question ID : 9895805769
Chosen Option : 2

Q.5 Working together A, B and C can complete a piece of work in 24 days. After working together for 4 days, C left the
6 work. A and B completed the remaining work in 30 days. The number of days taken by C alone to complete the same
work is:

ans of 172
< 290
X3 54
X 4. 60

Question ID : 9895805785
Chosen Option : 4

%5 The value of:

Ans 1

Question ID : 9895805766
Chosen Option : 2

Q.5 study the following table, (which shows the number of units of an item manufactured and sold by 5 companies) and
8 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
(6! 36 26
D 51 36
E 54 40

The ratio of the number of units manufactured by companies C and E together and the number of units sold by A and D
together is?

Ans X 117315
v 15:11
K3 24:13
X4 15:13

Question ID : 9895805788
Chosen Option : 1




—

Q.5 Study the following table, (which shows the number of units of an item manufactured and sold by 5 companies) and
9 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
@ 36 26
D 51 36
E 54 40

‘What percent of total number of units sold by companies A, B and D is equal to the number of units manufactured by
company C? (correct to one decimal place)

Ans - X1 40.9
X 2 356
V'3 367
<4333

Question ID : 9895805789
Chosen Option : 3

Q.6 A sum of T6900 was lent partly at 5% and the rest at 8 % simple interest. Total interest received after 3 years from
0 both was T1359. What was the ratio of money lent at 5% and 8 %?

Ans X1 3] :38
voall:12
<310:13
X4 14:9

Question ID : 9895805777
Chosen Option : 4

Q.6 The compound interest on a sum of T15800 for 2 years at 9% per annum, when the interest is compound 8 monthly, is
1 (nearest to a rupee):

Ans X1 32992
< 232956
< 3 33016
v 1 33018

Question ID : 9895805778
Chosen Option : 2

Q.6 Ifxis subtracted from each other of 17, 14, 22 and 8 then these numbers are in proportion, in this order. What is the
2 mean proportion between 9x and 5x?

Ans 1. 645
K27

3. 34/5
K6

Question ID : 9895805773
Chosen Option : 3

Q.6 A person bought 80 m cloth at ¥110 per m and sold 75 % of it at a gain of 6 % . At what gain percent did he sell the
3 remaining cloth, if he gained 10% on his outlay?

Ans X" 1. 280
v 2%




X3 24%
X4 26%

Question ID : 9895805770
Chosen Option : 2

Q.6 Two trains start at the same time, P from A to B and Q from B to A. If they arrive at B and A, respectively, 2 2 hours
4 and 10 hours after they passed each other, and the speed of P is 90 kmv/hr, then the speed of Q in km/hr is?

Ans X180
v 2 45
X375
X 4. 60

Question ID : 9895805783
Chosen Option : 3

Q.6 The average ages of boys and girls in a class is 14.5 years and 15 years respectively. If the ratio of the number of boys
5 and girls is 2 : 3, then what is the average age (in years) of all students in the class?

Ans X1 14.6
X2 154
K3 152
V148

Question ID : 9895805776
Chosen Option : 1

Q.6 Aminasaves 16% of her income. Now her income is increased by 20 % but she still saves the same amount as before.
6 What is the percentage increase in her expenditure?

Ans of 1238
X2 242
<3 204
X4 216

Question ID : 9895805771
Chosen Option : 3

Q.6 Two alloys A and B contain copper and zinc in the ratio 7 : 2 and 5 : 3 respectively. How many kg of A and B must be
7 melted in order to get an alloy of 44 kg containing copper and zinc in the ratio 3 : 1?7

Ans 1. 24 kg, 20 kg
2. 28 kg, 16 kg

X 3 30kg, 14 kg
4. 36 kg, 8 kg

Question ID : 9895805772
Chosen Option : 2

Q.6 The diagonal of a rectangle field is 15 m and its area is 108 m?. What is the cost of fencing the field at 50.50 per m?
8

Ans X1 F1919
< 232020
<3 20222
v




Question ID : 9895805780
Chosen Option : 2

Qéﬁ The value of [9.5 + (0.6 X 0.75 + 0.8 + 16) + 0.75] = (0.03 = 0.6 of 0.01) lies between:

Ans of 1 3and4
& 2 land2
< 3 2and3
< 4 0and 1

Question ID : 9895805767
Chosen Option : 3

Q.7 A shopkeeper marks the price of an article 25 % above its cost price. After allowing 10 % discount on the market price,
0 thearticle is sold for ¥720. What is the difference (in %) between the cost price and market price of the article?

Ans X1 150
v 2. 160
< 3. 180
X 4120

Question ID : 9895805768
Chosen Option : 2

Q.7 The volume of a right circular cone is 2464 cm? . If the radius of its base is 14 cm, then its curved surface area (in cm? )

1 is: (take =§)

Ans 1. 44\/@
2. 44\/@
3. 88/58
4. 88+/85

Question ID : 9895805782
Chosen Option : 2

Q7 The average of 15 numbers is 56. The average of first 8 numbers is 54.4 and that of last 8 numbers is 56.6. If 8% number
2 js excluded then what is the average of the remaining numbers? (correct to one decimal place)

Ans X1 538
X 2562
X 3536
v i 566

Question ID : 9895805775
Chosen Option : 2

Q.7 A can do 2t of a work in 12 days., B can do 21d of that work in 15 days. They worked together for 12 days and then A
3 left the work, B alone will complete the remaining work in?

Ans 1. 6 days
2. 4 days
3. 9 days
4. 5 days

Question ID : 9895805786
Chosen Option : 3




Q.7 How many spherical balls each of 2cm radius can be made out of a solid metallic cube of edge 44 cm? (take w = ?)

Ans o 1. 2541
X 2. 2448
X 32420
X 4 2532

Question ID : 9895805781
Chosen Option : 3

Q.7 Asumof x is divided among A, B and C such that the ratio of shares of A and Bis 3 : 4 and that of Band C is 5 : 6. If
5  C receives T1440 more than what A receives, then the value of x is?

Ans - X 1. 9600
v 2. 9440
< 39280
&< 49000

Question ID : 9895805774
Chosen Option : 3

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Dancing around a totem pole was one of the favourite pastimes of the American Indians.

Ans 1. were one of the favourite pastimes
2. No improvement
3. was one of the favourite pastime

4. are the favourite pastimes

Question ID : 9895805311
Chosen Option : --

Q2 Select the synonym of the given word.

GALLANT
Ans - X1 Wild
< 2. Courageous
v 3. Violent
4. Wealthy

Question ID : 9895805322
Chosen Option : --

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 3

Q3 Select the most appropriate option that will fill in
the blank number 1.

Ans {l. haldly
2. merely
3. nearly

< 4. rarely

Question ID : 9895805317
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 4

Q4 Select the most appropriate option that will fill in
the blank number 2.

Ans X 1. away

X 2 of

/< 3. over

v o off

Question ID : 9895805318
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 5

Q5 Select the most appropriate option that will fill in
the blank number 3.

Ans




< 1. along
< 2. near
W by

&< 4 with

Question ID : 9895805319
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 6

Q€ Select the most appropriate option that will fill in
the blank number 4.

Ans 1. dancing
2. singing
3. bursting

4. skipping

Question ID : 9895805320
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in
the blank number 5.

Ans 1. thought
# 2. understood
X 3 felt
X 4. advised

Question ID : 9895805321
Chosen Option : --

Q8 Select the correctly spelt word.
Ans 1. Throughfare




' 2. Thoroughfare
3. Thoroghfare
X 4. Thoroufare

Question ID : 9895805330
Chosen Option : --

Q9 Select the word which means the same as the group of words given.

A city which is multicultural
Ans X 1. Metro
& 2. Urban
X 3. Global
4. Cosmopolitan

Question ID : 9895805329
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

The GATT Treaty, it is explained, would allow subsidised to the extent of 10% of the market price.

Ans 1. would allow supply
2. would allow support
3. No improvement

v 2 would allow subsidy

Question ID : 9895805312
Chosen Option : --

Ql'l Select the antonym of the given word.

DUBIOUS

Ans X 1. Doubtful
< 2. Docile
/< 3. Faithful
v 4 Certain

Question ID : 9895805325
Chosen Option : --

O Select the antonym of the given word.

HOSTILE
Ans 1. Negative
X 2. Serene
3. Optimistic

4. Friendly

Question ID : 9895805324
Chosen Option : --




| . ]

Q3'1 Select the synonym of the given word.

IMPAIR
Ans X' 1. Weaken

X 2. Introduce
v 3. Combine
/< 4. Improve

Question ID : 9895805323
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
4 substitute it, select No improvement.

Operation Flood was started with the primary objective for linking rural producers with urban consumers.

Ans 1. No improvement

N

was started with the primary objectives of

w

- was started with primary objective

IS

. was started with the primary objective of

Question ID : 9895805313
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
5

Every one of the survivor of the capsized ship has told the same story.

Ans 1. capsized ship

& 2. of the survivor
« s Every one

4. the same story

Question ID : 9895805310
Chosen Option : --

Qél Select the option that means the same as the given idiom.

In the good books

Ans 1. To accompany good people

# 2. To be in favour of
3. To do favourable things

4. To collect good books

Question ID : 9895805326
Chosen Option : --

Q1 Select the correctly spelt word.
Ans 1. Equivelent

2. Equivalent




3. Eqivalent

4. Equivalant

Question ID : 9895805331
Chosen Option : --

Qél Select the option that means the same as the given idiom.

To sound a red alert.
Ans - X 1. To raise an alarm
2. To press a red button

& 3. To hear an alarm
4. To wave a red flag

Question ID : 9895805327
Chosen Option : --

Qél Select the most appropriate word to fill in the blank.

A successful entertainer the right mood before beginning a joke or story.
Ans 1. enjoys
2. spreads

& 3. creates
< 4. engages

Question ID : 9895805333
Chosen Option : --

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
0
The speech he made on his visit to our college concerning our society’s needs have bothered me greatly.

Ans 1. The speech

< 2. have bothered
3. concerning our

& 4. on his visit

Question ID : 9895805309
Chosen Option : --

Q2 Select the most appropriate option to fill in the blank.

If you listened carefully, you .
Ans  of 1. understand
< 2. would understand
< 3. will understand
< 4 would have understood

Question ID : 9895805314
Chosen Option : --

Q.2




2 From the given options, identify the segment in the sentence which contains the grammatical error.
He want to finish the assignment in the last week but in fact he could not.

Ans X1 he could not

¥ 2. want to finish

X 3. in the last week
4. the assignment

Question ID : 9895805308
Chosen Option : --

Q2 Select the word which means the same as the group of words given.

One who knows everything
Ans 1. Omnipatient
2. Omnipotent
# 3. Omniscient
4. Omnipresent

Question ID : 9895805328
Chosen Option : --

QA;Z Select the most appropriate word to fill in the blank.

The soldiers were instructed to _ restraint and handle the situation peacefully.
Ans - X 1. control
X 2. resist
& 3. exercise
o 2 prevent

Question ID : 9895805332
Chosen Option : --

%2 Select the most appropriate option to fill in the blank.

Invite everyone in the groupto  us for a weekend party.
Ans 1. join them
X 2. join
3. join together

4. join each other

Question ID : 9895805315
Chosen Option : --

Section : Hindi Language
Ul R AT e F UATTATET AT FT TTT FII

EUES
Ans x’ 1. m




Question ID : 9895805632
Chosen Option : 3

?? Rv AT e F TATATT AT FT TTT FY|

TIEEAr

Ans 1. aﬁr
X 2 JATET
W 3 AREr

4. aﬁr

Question ID : 9895805633
Chosen Option : 1

*? Rea T Y s % T 39 Aqeg TS Y

gg ar T ST
Ans 1. aﬁm.
v ar
3. gfew
4 Fifteh

Question ID : 9895805623
Chosen Option : 2

** R T F o F R sugEd e oI

T R F e AT #+ g g
Ans Lm

Question ID : 9895805620
Chosen Option : 3

%° TEr T AT A T TAT FY
e grafef@a

2. gEATeEd

3 gEgenad

0. gEITIET




Question ID : 9895805639
Chosen Option : 1

Qﬁﬁvwmﬁi@iﬁﬁzﬁgﬁmm#ﬁwmﬁﬁqﬂwaﬁl
T 3 T TG H TR W e
AL g 3 aTERTE A
2 gTal 9T IEE H
s Tl Y IS W
4. IEITE TR qIAT T

Question ID : 9895805618
Chosen Option : 3

7 R I T F AT UF aeg A

AgAT F TTem
ANS L HTerdY

Question ID : 9895805637
Chosen Option : 4

Q8 R a1v A # Y@ifra wE # sfEwRa = F R suged Rwew # 9w #
e ¥ 3@ USF W HE 3 TIER H SEIE 3 T ¥

L FEIE ST A B

2 AT HTT 1T F|

3. BEAF AT 91T &

4 BSETF HT AT g

Ans

Question ID : 9895805619
Chosen Option : 3

¥ R e g # oFg avr wa e w3 g
et &1 TeoT Hfafy o |y e &
s L HRafr
2. feRaT amam)
3 WIET §T
s eIl T T[0T

Question ID : 9895805615
Chosen Option : 1




% R W 1 R F T 39gEd aeg F IIT H

ST T FT|
Ans 1m@,

Question ID : 9895805621
Chosen Option : 2

Y R e g # fEE I
3TERT
Ans 1. &TAT
v 2 3FTERT
3. greYaT
+ T

Question ID : 9895805630
Chosen Option : 2

% T T AR @ 9g s A WY oA B8 3R E

AT H 3O 9T FIEF AT & I
Ans  FTE ueTar
2 et H
3. 3T AT
4. g1 aram|

Question ID : 9895805614
Chosen Option : 1

Comprehension:




el sz & Rea wuer @ 9fd gzmr &
A T a1 weat & sger A -

HETGENT A WHT FH el (1) 7T g1 98
sufore i Tt Agsal & e THR A
(2) TAT T&T & & W@ gl AT e, R #
3T gEE €, IR 9F &% TET W W B W
B mmEmasfrag _ (4) F TS
HHM TH &OTHr _ (5) ¥ ¢oF T AT
9 9% 3TT & TAET F SR W IS AT H
dr=rem & Frer & & I’ &7oT 9ger & el Tl
SubQuestion No : 13

% Tregrer & wHfad Rea T (1) & o s
reE g -

Ans TR
2

X 2. FMTH
3. A
2

4, 99

=2

Question ID : 9895805625
Chosen Option : 1

Comprehension:
frrafaf@a srarer & ea wuet $ g sz &
A g a1 weat & sgEr Aifsw -

FETRST F AT H Fel (1) #1AT g1 98
sufore it Tt Agsal & e THR A
(2) THT T=T & T WaT gl AT oifed, e @
T THSar g, IfE 9 AF AT W W TIA W
B memasfrag_ (4) F 9HS
HHM| Teh &TUT I (5) & T BT TN
9 Ig T & TAET ¥ SR W IS AT H
=T 3 Frer & & I’ &7oT 9ger & el Tl
SubQuestion No : 14

% e # THaa Red T (2) & v sugea
eg g -

AL e
< 2. HTeRTLT




Question ID : 9895805626
Chosen Option : 3

Comprehension:
ffaf@a ez & Rea wu=t $ qfd gz &
#=r BT 717 geat & AR HIfaT -

FETITN o WAT H el (1) |ET g1 98
sufT Fiifs Wi At # 3P TER A
(2) TAT T&T & & W@ gl AT e, R #
3T s 8, I 97 &% THT W W BT W
_ (3) wirwem a@sf | _ (4) ® I3
HHM| Teh &TUT I (5) & A T ST
J9 98 G & NRIAET T o o 39 A4 H
e & e & & IR 87T 9ger & el &aT|
SubQuestion No : 15

% areer # Whtad Red T (3) & v sugsa
e g -

Ans 1-F|3Ié'

Question ID : 9895805627
Chosen Option : 2

Comprehension:




ferafaf@a ez & Rea wu&r @ 9fd ez &
A fgT a1 weat & agEr s -

FETRST F AT H Feal (1) AT 1 98
saforT it Tt Agsal & e THR A
(2) AT T=T & &1 W g1 A oo, faer @
T YhEe g, IfE 98 &% §HT W T T W
_ (B) e a@sft @® _(4) F THE
HHI| Teh &TUT &I (5) & T BT AT
9 9% TT & TAET F SR W IS AT H
T 3 Frer & & 9 &7oT 9ger & Tl Tl
SubQuestion No : 16

% e # gHfaa Red T (4) F e suged
e g -

Ans Laa,
X 2. g

3. @rSfeRer

Koo §g

Question ID : 9895805628
Chosen Option : 1

Comprehension:
ferafaf@a ez & Rea wu&r @ 9fd ez &
A fqT a1 WAt & sgEr s -

FETRST F AT H Feal (1) AT g1 98
saforT it Tt Agsal & e THR A
(2) FFT TT & T W g1 AT enfa, e @
T Umsar g, I 9 S AT W W TAA W
_ (B) e a@sft @® _(4) F THE
T3 T &TUT T (5) & T T ST
9 9% TT & TAET F SR W IS AT H
=T 3 Frer & & 9 &7oT 9ger & Tl Tl
SubQuestion No : 17

%' areaier #F wHaa Red T (5) & v sugEa
e g -

Ans 1-%‘%

X 2 FTEg




Question ID : 9895805629
Chosen Option : 3

% Red T &1 st % R 397 g 1 T3 H

g |TY qUT HEART H
Ans X1 HTT
2 3T
3. AR
4 I

Question ID : 9895805622
Chosen Option : 2

G R T Ty F AT v aee SR

Srgar anfe 7 @
Ans X1 HEAT
2 AT
FASERE: = g
4.3.];"%

Question ID : 9895805636
Chosen Option : 4

de frfafad & ¥ 5@ fadeT &1 70 FY S T & A Gerae FEray F 7Y ¥ H B
AVAR s

4$ﬂmﬁm

Question ID : 9895805634
Chosen Option : 4

g I I oeE F AT HY
s Rifeseare

[ Question ID : 9895805638




l Chosen Option : 1 J

Qj%@mmﬁwmmﬁmmtﬁvwgwﬁmwwﬁl
T g F FROT @l T &, T&l NN S o &
AL gt OT BT ST AT B

2. ggr 9T 3 I AT g
3 gl 9T 3T ST o 2
4 ST 9T T =T o gl

Question ID : 9895805617
Chosen Option : 2

Q2 frafafea & ¥ 38 Rwed & 97 & o '@ A&l W AR T@Ar Fgray @71 31 7o w7l 8
AL IR e

2 TS WY F5 HFH HEAT

3 g TaRret Jait #r TS o

4 3 ATEN 9 TH WY AT

Question ID : 9895805635
Chosen Option : 2

—
% Ry o e @ Rete 4

ans O 1. 37oTST
2 Geld
X 3 Toatel

g

Question ID : 9895805631
Chosen Option : 1

—
U R v aw #1 ag ST AT HY o w1 IR A

I g T JETFAT A § a9 B ¥ FUR FeS F AT 31T FG §
A1 3uR Al #T Aled 3T S
2 g oy &
5. HTETSHAT A ¥
4 FF O Hr

Question ID : 9895805616
Chosen Option : 1




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :
Registration
No.
Name :
. [ION Digital Zone iDZ Gram Raigawan Near Patan
Exam Venue : Bypassg 9
Exam Time: [4:00 PM - 5:30 PM
Exam Date : [19/02/2019

Section : General Section

Q.1 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.

Ans o 11321
X 2. 729
X< 3125
X 4343
Question ID : 9895803942
Chosen Option : 1
Q.2

Choose the option that would follow next in the given figure series.

=, =] ] M

Ans

Ko O
—
*
Vo] 2
H
*

xa| T
—
X 4 i
H
o

QUeston I . 969o50Us9490
‘ Chosen Option : 1 |

Q.3




Select the figure which when placed in the blank space of the figure marked ‘X’ would complete the pattern.

X)

Ans

X 3.

v

Question ID : 9895803946
Chosen Option : 4

Q4 Which number will follow next in the given number series?

15, 12, 19, 14, 25, 16, ?
Ans X1 35

v 33

X329

X 31

Question ID : 9895803939
Chosen Option : 2

Q> Choose the option in which the figure marked ‘X’ is embedded.

x)

Ans




Xz.\

F S

v

Question ID : 9895803948
Chosen Option : 4

Q6 Pick the odd one out.
Ans x 1. Tyre
v 2 Plate
3. Ring

4. Bangle

Question ID : 9895803928
Chosen Option : 2

Q.7 AGENDA is related to MEETING in the same way as PROGRAMME is related to:

Ans  of 1. FUNCTION
X 2. SPEECH
& 3. INAUGURATION
& 4. ORGANISATION

Question ID : 9895803929
Chosen Option : 1

Q8 Which one of the following four-letter clusters does NOT belong to the group?

Ans x 1. KQOM
X 2. CIGE




X 3. PVTR
v 1 WZXY

Question ID : 9895803927
Chosen Option : 4

Q.9 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. All roads are streets.

2. Some streets are avenues.

Conclusions:
I. Some roads are avenues.

II. All avenues are roads.
Ans  of 1. Neither conclusion I nor II follows
< 2. Both conclusions I and II follow

3. Only conclusion II follows

4. Only conclusion I follows

Question ID : 9895803937
Chosen Option : 3

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
0

Temple : Worship :: Court : ?
Ans X1 Lawyer
' 2. Argument
3. Judge

X 4. Jurisdiction

Question ID : 9895803930
Chosen Option : 4

Q.1 Six girls are sitting in a row facing West. Kim is to the left of Sima and Sony is between Piku and Ria. There are two
1 people seated between Piku and Sima, who is separated from Neela by one person. If Piku is seated at one end of the
row, who is at the other end?

Ans of 1. Neela
X 2. Sima
& 3 Ria
X 4 Kim

Question ID : 9895803935
Chosen Option : 1

Q.1 The numbers in the following set are related in a certain way. Choose the set that is similar to the following set:
2

{128, 8,32}

Ans 4 €144, 36, 72}




2. {196, 7, 14}
3. {64, 4, 16}
s, {122, 10, 30}

Question ID : 9895803943
Chosen Option : 3

Q3-1 Select the correct option that will fill in the blank and complete the series.

dmt, kv, ihy, mde,
ans K1 pxi
X 2 17h

3. qzl

4. ryh

Question ID : 9895803926
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
4

BYWD : DWUF :: FUSH : ?
Ans o 1 HSQJ
X 2. IQOL
X 3. HSIQ
& 4 HTRJ

Question ID : 9895803931
Chosen Option : 1

Q.1 Ris taller than T. Both P and Q are taller than S, whose height is between P and T. If S is taller than T, who is the
5 shortest?

Ans X1 Q
X228
X3P
T

Question ID : 9895803936
Chosen Option : 4

Q.1 Ifinacode language ADVENTURES is coded as VDANEUTSER, then SYSTEMATIC would be coded as:
6

Ans X 1. YSTSMETACI
v 2. SYSETAMCIT
& 3. SYSMETITAC
X 4. CITETAMSYS

Question ID : 9895803932
Chosen Option : 2

Q.1 Six persons A, B, C, D, E and F are sitting around a round table facing the centre. B is seated to the left of D. E is seated
7 tothe right of C. A is facing F. who is seated to the left of C. Who is seated to the left of A?




Ans ( 1.
52
F S
X a

O O W

Question ID : 9895803934
Chosen Option : 2

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
8 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some animals are tigers.

2. All tigers are vertebrates.

Conclusions:
1. All vertebrates are tigers.

II. Some vertebrates are animals.

Ans 1. Only conclusion II follows

< 2. Neither conclusion I nor II follows
3. Only conclusion I follows

X 4. Both conclusion I & II follow

Question ID : 9895803938
Chosen Option : 4

Qél Select the correct option that will fill in the blank and complete the series.

5, .10,19,35,60
Ans X' 1.9
X 27
<38
vi6

Question ID : 9895803940
Chosen Option : 4

Q(-)2 Which two signs should be interchanged to make the following equation correct?

6 X2+8-16+4 =18

Ans 1 +and +
V3 +and x
X3 —and+
X 4 xand+

Question ID : 9895803944
Chosen Option : 2

Q.2




1 Which of the following Venn diagrams correctly represents the relationships among the classes:

Products, Factory, Machines

Ans T e e

x.( () (

X ( () )

v » )

Question ID : 9895803950
Chosen Option : 4

Q.2 Choose the alternative which most closely resembles the mirror image of the given word when mirror is placed at right
2 side.

7
&

Ans

\

T
(1

v

Q (]
XY

2




(TR
X 4 ‘<‘
>

Question ID : 9895803947
Chosen Option : 3

Q.2 How would the pattern given on the square transparent sheet marked ‘X" look when the sheet is folded along the dotted
3 line?

(X)

Ans ———I
|
|

F ( !
I
|

e |
SL |
!

K2 g i
|
|

o—— |
]
|
|

e |
|
|

2 e |
—
l

- |

I s :
|

o e |

Question ID : 9895803949
Chosen Option : 4

Q2 Pick the odd pair out.
Ans X0 1. 17-49

v 2 15-41

K 3. 9-25




< 4.5-13

Question ID : 9895803941
Chosen Option : 3

Qéz If in a code language BADE = 1254 and HATE= 18520, then HEALER = ?

Ans X1 18512158
X 2. 58112158
v 3. 58121185
X 4. 15818512

Question ID : 9895803933
Chosen Option : 2

Qéz India recognizes the Right to as being part of Right to Life (Article 21).

Ans  of 1 Water
X 2. Medication
< 3. Acceptance

X 4. Fitness

Question ID : 9895805472
Chosen Option : 3

Q.2 Neutral, expansionary, and contractionary strategies are related to which policy of the government?
7
Ans 1. Banking policy
2. Fiscal policy
3. Monetary policy
4. Budgetary policy

Question ID : 9895805467
Chosen Option : 1

%2 During whose rule was the historical Nalanda University established?
Ans X 1. Bindusara
2. Chandragupta
« 3. Kumaragupta
& 4 Dasratha

Question ID : 9895805481
Chosen Option : 1

Q9-2 Which among the following is the smallest mountain range in the world?

Ans X 1. Ural
& 2. Sierra Nevada

3. Alps
v 4. Sutter Buttes

Question ID : 9895805479




l Chosen Option : 3 ]

0% ‘Hemis Festival’ is celebrated in which Indian state?
ans - X 1. Karnataka
2. Punjab

& 3. Tamil Nadu
v 4 Jammu and Kashmir

Question ID : 9895805460
Chosen Option : 4

Qi3 Which city among the following is the most densely populated city. as of 2018?
Ans X 1. Paris
2. Shanghai
< 3. Istanbul
v 4. Tokyo

Question ID : 9895805480
Chosen Option : 4

Q.3 Who has won Sayed Modi India Grand Prix Gold Badminton Title 2018 in Men’s Singles Titles?
2
Ans - X 1. Srikanth Kidambi
#< 2. Prannoy Kumar
3. Ajay Jayaram

« . Sameer Verma

Question ID : 9895805463
Chosen Option : 1

Q3'3 ‘Bishan Singh Bedi ’is a legendary Indian player of:
Ans 1. hockey

v 2. cricket
& 3. football
& 4 lawn tennis

Question ID : 9895805462
Chosen Option : 1

@3 Aravind Adiga got the prestigious Man Booker Prize for which book?
Ans 1. God of Small Things
2. The White Tiger
3. Selection Day
X 4. The Kite Runner

Question ID : 9895805464
Chosen Option : 3

T




Q.3 Eminent economist and columnist has resigned as part time member of Economic Advisory Council to the
5 Prime Minister Narendra Modi.

Ans 1. Raghuram Rajan
2. Jagdish Bhagwati
# 3. Arvind Subramanian
4. Surjit Bhalla

Question ID : 9895805468
Chosen Option : 2

Qé3 Which Indian state has the largest area under forest cover?
Ans - X' 1. Kerala
2. Chhattisgarh
3. Madhya Pradesh
& 4 Arunachal Pradesh

Question ID : 9895805476
Chosen Option : 3

Q7-3 ‘Thumur® a traditional dance form, is performed in which of the following states?
Ans - X 1. Qdisha
2. Madhya Pradesh

v 3. Assam
4. Bengal

Question ID : 9895805459
Chosen Option : 1

3¢ o & .
Q8 The Mousetrap’ was a famous play written by:

Ans 1. George Bernard Shaw

N

. William Shakespeare
. Agatha Christie
. Caryl Churchill

w

~

Question ID : 9895805465
Chosen Option : 1

Q.3 The ancient cities of Harappa and Mohenjo-Daro emerged along the banks of which river?
9

Ans 1. Brahmaputra River
2. Baghmati River
3. Ganga River

« 4 Indus River

Question ID : 9895805482
Chosen Option : 4

%4 The famous ‘Ratnagiri Monastery” is located in which Indian state?




Ans of 1 Orissa

& 2. Jharkhand

# 3. Karnataka
4. Gujarat

Question ID : 9895805461
Chosen Option : 4

Q.4 What was the event that fundamentally changed Sardar Vallabhbhai Patel’s life and drove him towards politics?
1

Ans 1. Meeting with Mahatma Gandhi in Godhra (year 1917)
2. Bardoli Satyagraha (year 1928)

3. The Gandhi Irwin Pact (year 1931)

4. Non-Cooperation Movement (year 1922)

Question ID : 9895805483
Chosen Option : 1

Q2'4 In which year was the Right to Education Act enacted in India?

Ans of 12009
X 2. 2004
X 3. 2011
X 42006

Question ID : 9895805471
Chosen Option : 2

Q.4 In which year did Ms. Sushmita Sen become the first Indian woman to win the ‘Miss Universe” title?
3

Ans - X 11991
v 2. 1994
X 3. 1998
X 4. 1996

Question ID : 9895805466
Chosen Option : 2

Q"“" Which of the following is regarded as the shortest river of India?

Ans X1 Kaveri
v 2 Arvari
X 3. Godavari
& 4. Narmada

Question ID : 9895805478
Chosen Option : 2

%4 Which of the following is a nocturnal animal?
Ans 1. Porcupine

X 2. Murids




/< 3. Hamster
v . Bat

Question ID : 9895805475
Chosen Option : 4

%4 What is the SI unit for the measurement of pressure?

Ans X 1. Newton
v 2 Pascal
< 3. Joule
/< 4. Ampere

Question ID : 9895805473
Chosen Option : 2

Q7-4 Which country among the following options has the shortest constitution in the world?

Ans 1. United Kingdom
X 2. Norway
' 3 United States of America
X 4 India

Question ID : 9895805470
Chosen Option : 2

Qé“ ‘Who is the founder of ‘Sulabh Sanitation and Social Reform Movement®?

Ans X 1. Baba Amte
/< 2. Medha Patkar
/< 3. Aruna Roy

v 2 Dr Bindeshwar Pathak

Question ID : 9895805477
Chosen Option : 2

Q.4 Baking soda, the common cooking ingredient, has which of the following chemical name?
9

Ans  of 1. Sodium bicarbonate
& 2. Sodium chloride
& 3. Sodium benzoate
4. Monosodium glutamate

Question ID : 9895805474
Chosen Option : 1

Q.5 Union Cabinet has decide to raise contribution of Central Government to National Pension System (NPS) corpus of its
0 employee from 10% to

Ans X1 20%
v 2 14%
X 3 12%
K a4




Question ID : 9895805469
Chosen Option : 2

Q.5 Study the following table. (which shows the number of units of an item manufactured and sold by 5 companies) and
1 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
(& 36 26
D 51 36
E 54 40

‘Which Company sold the highest percentage of units as compared to manufactured by it?

Ans X' 1. C
X2B
v E
XA

Question ID : 9895805787
Chosen Option : 3

Q.5 Walking at 75 % of his usual speed, Raghu is 80 minutes late to his office. What is his usual time in hours to cover the
2 same distance?

Ans Xl_ 3

Question ID : 9895805784
Chosen Option : 2

Q.5 Let x be the least number which when divided by 10, 12, 14 and 16 leaves the remainders 2, 4, 6 and 8, respectively, but
3 xisdivisible by 17. When x is divided by 52, the quotient is:

Ans X199
<2 95
<3 92
v 2 96

Question ID : 9895805765
Chosen Option : 3

Qf What is the average of the mean, median and range of the data:

34,41, 6, 13, 27, 20, 48, and 55 ?
Ans
Xt 36§

2. 30~
3

3 362
3

4 30
2

Question ID : 9895805779




l Chosen Option : 1

Q.5 Note-books are bought at 16 for 700 and sold at 11 for T500. How many notebooks should be sold to gain I450?
5

Ans X1 272
X 2. 254
V'3 264
X 4. 260

Question ID : 9895805769
Chosen Option : 2

Q.5 Working together A, B and C can complete a piece of work in 24 days. After working together for 4 days, C left the
6 work. A and B completed the remaining work in 30 days. The number of days taken by C alone to complete the same
work is:

ans of 172
< 290
X3 54
X 4. 60

Question ID : 9895805785
Chosen Option : 4

%5 The value of:

Ans 1

Question ID : 9895805766
Chosen Option : 2

Q.5 study the following table, (which shows the number of units of an item manufactured and sold by 5 companies) and
8 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
(6! 36 26
D 51 36
E 54 40

The ratio of the number of units manufactured by companies C and E together and the number of units sold by A and D
together is?

Ans X 117315
v 15:11
K3 24:13
X4 15:13

Question ID : 9895805788
Chosen Option : 1




—

Q.5 Study the following table, (which shows the number of units of an item manufactured and sold by 5 companies) and
9 answer the question.

No. of Units

(in thousand)
Company | Manufactured | Sold
A 42 30
B 45 32
@ 36 26
D 51 36
E 54 40

‘What percent of total number of units sold by companies A, B and D is equal to the number of units manufactured by
company C? (correct to one decimal place)

Ans - X1 40.9
X 2 356
V'3 367
<4333

Question ID : 9895805789
Chosen Option : 3

Q.6 A sum of T6900 was lent partly at 5% and the rest at 8 % simple interest. Total interest received after 3 years from
0 both was T1359. What was the ratio of money lent at 5% and 8 %?

Ans X1 3] :38
voall:12
<310:13
X4 14:9

Question ID : 9895805777
Chosen Option : 4

Q.6 The compound interest on a sum of T15800 for 2 years at 9% per annum, when the interest is compound 8 monthly, is
1 (nearest to a rupee):

Ans X1 32992
< 232956
< 3 33016
v 1 33018

Question ID : 9895805778
Chosen Option : 2

Q.6 Ifxis subtracted from each other of 17, 14, 22 and 8 then these numbers are in proportion, in this order. What is the
2 mean proportion between 9x and 5x?

Ans 1. 645
K27

3. 34/5
K6

Question ID : 9895805773
Chosen Option : 3

Q.6 A person bought 80 m cloth at ¥110 per m and sold 75 % of it at a gain of 6 % . At what gain percent did he sell the
3 remaining cloth, if he gained 10% on his outlay?

Ans X" 1. 280
v 2%




X3 24%
X4 26%

Question ID : 9895805770
Chosen Option : 2

Q.6 Two trains start at the same time, P from A to B and Q from B to A. If they arrive at B and A, respectively, 2 2 hours
4 and 10 hours after they passed each other, and the speed of P is 90 kmv/hr, then the speed of Q in km/hr is?

Ans X180
v 2 45
X375
X 4. 60

Question ID : 9895805783
Chosen Option : 3

Q.6 The average ages of boys and girls in a class is 14.5 years and 15 years respectively. If the ratio of the number of boys
5 and girls is 2 : 3, then what is the average age (in years) of all students in the class?

Ans X1 14.6
X2 154
K3 152
V148

Question ID : 9895805776
Chosen Option : 1

Q.6 Aminasaves 16% of her income. Now her income is increased by 20 % but she still saves the same amount as before.
6 What is the percentage increase in her expenditure?

Ans of 1238
X2 242
<3 204
X4 216

Question ID : 9895805771
Chosen Option : 3

Q.6 Two alloys A and B contain copper and zinc in the ratio 7 : 2 and 5 : 3 respectively. How many kg of A and B must be
7 melted in order to get an alloy of 44 kg containing copper and zinc in the ratio 3 : 1?7

Ans 1. 24 kg, 20 kg
2. 28 kg, 16 kg

X 3 30kg, 14 kg
4. 36 kg, 8 kg

Question ID : 9895805772
Chosen Option : 2

Q.6 The diagonal of a rectangle field is 15 m and its area is 108 m?. What is the cost of fencing the field at 50.50 per m?
8

Ans X1 F1919
< 232020
<3 20222
v




Question ID : 9895805780
Chosen Option : 2

Qéﬁ The value of [9.5 + (0.6 X 0.75 + 0.8 + 16) + 0.75] = (0.03 = 0.6 of 0.01) lies between:

Ans of 1 3and4
& 2 land2
< 3 2and3
< 4 0and 1

Question ID : 9895805767
Chosen Option : 3

Q.7 A shopkeeper marks the price of an article 25 % above its cost price. After allowing 10 % discount on the market price,
0 thearticle is sold for ¥720. What is the difference (in %) between the cost price and market price of the article?

Ans X1 150
v 2. 160
< 3. 180
X 4120

Question ID : 9895805768
Chosen Option : 2

Q.7 The volume of a right circular cone is 2464 cm? . If the radius of its base is 14 cm, then its curved surface area (in cm? )

1 is: (take =§)

Ans 1. 44\/@
2. 44\/@
3. 88/58
4. 88+/85

Question ID : 9895805782
Chosen Option : 2

Q7 The average of 15 numbers is 56. The average of first 8 numbers is 54.4 and that of last 8 numbers is 56.6. If 8% number
2 js excluded then what is the average of the remaining numbers? (correct to one decimal place)

Ans X1 538
X 2562
X 3536
v i 566

Question ID : 9895805775
Chosen Option : 2

Q.7 A can do 2t of a work in 12 days., B can do 21d of that work in 15 days. They worked together for 12 days and then A
3 left the work, B alone will complete the remaining work in?

Ans 1. 6 days
2. 4 days
3. 9 days
4. 5 days

Question ID : 9895805786
Chosen Option : 3




Q.7 How many spherical balls each of 2cm radius can be made out of a solid metallic cube of edge 44 cm? (take w = ?)

Ans o 1. 2541
X 2. 2448
X 32420
X 4 2532

Question ID : 9895805781
Chosen Option : 3

Q.7 Asumof x is divided among A, B and C such that the ratio of shares of A and Bis 3 : 4 and that of Band C is 5 : 6. If
5  C receives T1440 more than what A receives, then the value of x is?

Ans - X 1. 9600
v 2. 9440
< 39280
&< 49000

Question ID : 9895805774
Chosen Option : 3

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Dancing around a totem pole was one of the favourite pastimes of the American Indians.

Ans 1. were one of the favourite pastimes
2. No improvement
3. was one of the favourite pastime

4. are the favourite pastimes

Question ID : 9895805311
Chosen Option : --

Q2 Select the synonym of the given word.

GALLANT
Ans - X1 Wild
< 2. Courageous
v 3. Violent
4. Wealthy

Question ID : 9895805322
Chosen Option : --

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 3

Q3 Select the most appropriate option that will fill in
the blank number 1.

Ans {l. haldly
2. merely
3. nearly

< 4. rarely

Question ID : 9895805317
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 4

Q4 Select the most appropriate option that will fill in
the blank number 2.

Ans X 1. away

X 2 of

/< 3. over

v o off

Question ID : 9895805318
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 5

Q5 Select the most appropriate option that will fill in
the blank number 3.

Ans




< 1. along
< 2. near
W by

&< 4 with

Question ID : 9895805319
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 6

Q€ Select the most appropriate option that will fill in
the blank number 4.

Ans 1. dancing
2. singing
3. bursting

4. skipping

Question ID : 9895805320
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

After my job was over, I went to Mumbai and returned after (1)

six months. I had barely taken (2) my clothes when I
saw Ratan standing (3) a new baby. He was (4) with
joy. Even my daughter could not have (5) such joy on finding

her younger brother after several years.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in
the blank number 5.

Ans 1. thought
# 2. understood
X 3 felt
X 4. advised

Question ID : 9895805321
Chosen Option : --

Q8 Select the correctly spelt word.
Ans 1. Throughfare




' 2. Thoroughfare
3. Thoroghfare
X 4. Thoroufare

Question ID : 9895805330
Chosen Option : --

Q9 Select the word which means the same as the group of words given.

A city which is multicultural
Ans X 1. Metro
& 2. Urban
X 3. Global
4. Cosmopolitan

Question ID : 9895805329
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

The GATT Treaty, it is explained, would allow subsidised to the extent of 10% of the market price.

Ans 1. would allow supply
2. would allow support
3. No improvement

v 2 would allow subsidy

Question ID : 9895805312
Chosen Option : --

Ql'l Select the antonym of the given word.

DUBIOUS

Ans X 1. Doubtful
< 2. Docile
/< 3. Faithful
v 4 Certain

Question ID : 9895805325
Chosen Option : --

O Select the antonym of the given word.

HOSTILE
Ans 1. Negative
X 2. Serene
3. Optimistic

4. Friendly

Question ID : 9895805324
Chosen Option : --




| . ]

Q3'1 Select the synonym of the given word.

IMPAIR
Ans X' 1. Weaken

X 2. Introduce
v 3. Combine
/< 4. Improve

Question ID : 9895805323
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
4 substitute it, select No improvement.

Operation Flood was started with the primary objective for linking rural producers with urban consumers.

Ans 1. No improvement

N

was started with the primary objectives of

w

- was started with primary objective

IS

. was started with the primary objective of

Question ID : 9895805313
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
5

Every one of the survivor of the capsized ship has told the same story.

Ans 1. capsized ship

& 2. of the survivor
« s Every one

4. the same story

Question ID : 9895805310
Chosen Option : --

Qél Select the option that means the same as the given idiom.

In the good books

Ans 1. To accompany good people

# 2. To be in favour of
3. To do favourable things

4. To collect good books

Question ID : 9895805326
Chosen Option : --

Q1 Select the correctly spelt word.
Ans 1. Equivelent

2. Equivalent




3. Eqivalent

4. Equivalant

Question ID : 9895805331
Chosen Option : --

Qél Select the option that means the same as the given idiom.

To sound a red alert.
Ans - X 1. To raise an alarm
2. To press a red button

& 3. To hear an alarm
4. To wave a red flag

Question ID : 9895805327
Chosen Option : --

Qél Select the most appropriate word to fill in the blank.

A successful entertainer the right mood before beginning a joke or story.
Ans 1. enjoys
2. spreads

& 3. creates
< 4. engages

Question ID : 9895805333
Chosen Option : --

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
0
The speech he made on his visit to our college concerning our society’s needs have bothered me greatly.

Ans 1. The speech

< 2. have bothered
3. concerning our

& 4. on his visit

Question ID : 9895805309
Chosen Option : --

Q2 Select the most appropriate option to fill in the blank.

If you listened carefully, you .
Ans  of 1. understand
< 2. would understand
< 3. will understand
< 4 would have understood

Question ID : 9895805314
Chosen Option : --

Q.2




2 From the given options, identify the segment in the sentence which contains the grammatical error.
He want to finish the assignment in the last week but in fact he could not.

Ans X1 he could not

¥ 2. want to finish

X 3. in the last week
4. the assignment

Question ID : 9895805308
Chosen Option : --

Q2 Select the word which means the same as the group of words given.

One who knows everything
Ans 1. Omnipatient
2. Omnipotent
# 3. Omniscient
4. Omnipresent

Question ID : 9895805328
Chosen Option : --

QA;Z Select the most appropriate word to fill in the blank.

The soldiers were instructed to _ restraint and handle the situation peacefully.
Ans - X 1. control
X 2. resist
& 3. exercise
o 2 prevent

Question ID : 9895805332
Chosen Option : --

%2 Select the most appropriate option to fill in the blank.

Invite everyone in the groupto  us for a weekend party.
Ans 1. join them
X 2. join
3. join together

4. join each other

Question ID : 9895805315
Chosen Option : --

Section : Hindi Language
Ul R AT e F UATTATET AT FT TTT FII

EUES
Ans x’ 1. m




Question ID : 9895805632
Chosen Option : 3

?? Rv AT e F TATATT AT FT TTT FY|

TIEEAr

Ans 1. aﬁr
X 2 JATET
W 3 AREr

4. aﬁr

Question ID : 9895805633
Chosen Option : 1

*? Rea T Y s % T 39 Aqeg TS Y

gg ar T ST
Ans 1. aﬁm.
v ar
3. gfew
4 Fifteh

Question ID : 9895805623
Chosen Option : 2

** R T F o F R sugEd e oI

T R F e AT #+ g g
Ans Lm

Question ID : 9895805620
Chosen Option : 3

%° TEr T AT A T TAT FY
e grafef@a

2. gEATeEd

3 gEgenad

0. gEITIET




Question ID : 9895805639
Chosen Option : 1

Qﬁﬁvwmﬁi@iﬁﬁzﬁgﬁmm#ﬁwmﬁﬁqﬂwaﬁl
T 3 T TG H TR W e
AL g 3 aTERTE A
2 gTal 9T IEE H
s Tl Y IS W
4. IEITE TR qIAT T

Question ID : 9895805618
Chosen Option : 3

7 R I T F AT UF aeg A

AgAT F TTem
ANS L HTerdY

Question ID : 9895805637
Chosen Option : 4

Q8 R a1v A # Y@ifra wE # sfEwRa = F R suged Rwew # 9w #
e ¥ 3@ USF W HE 3 TIER H SEIE 3 T ¥

L FEIE ST A B

2 AT HTT 1T F|

3. BEAF AT 91T &

4 BSETF HT AT g
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Question ID : 9895805619
Chosen Option : 3
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Question ID : 9895805615
Chosen Option : 1
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Question ID : 9895805621
Chosen Option : 2
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Question ID : 9895805630
Chosen Option : 2
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Question ID : 9895805614
Chosen Option : 1

Comprehension:
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HETGENT A WHT FH el (1) 7T g1 98
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SubQuestion No : 13
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Question ID : 9895805625
Chosen Option : 1

Comprehension:
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SubQuestion No : 14
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Question ID : 9895805626
Chosen Option : 3

Comprehension:
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SubQuestion No : 15
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Question ID : 9895805627
Chosen Option : 2

Comprehension:
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SubQuestion No : 16
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Question ID : 9895805628
Chosen Option : 1

Comprehension:
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SubQuestion No : 17
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Question ID : 9895805629
Chosen Option : 3
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Question ID : 9895805622
Chosen Option : 2
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Question ID : 9895805636
Chosen Option : 4
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Question ID : 9895805634
Chosen Option : 4
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Question ID : 9895805617
Chosen Option : 2
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Question ID : 9895805635
Chosen Option : 2
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Question ID : 9895805631
Chosen Option : 1
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Question ID : 9895805616
Chosen Option : 1




